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Solutions 

1. Ans. C. 

Refer the second sentence of the given passage, 'It 

may be a taboo to say it, but certain ethnic, 

religious and national-origin groups are doing 

strikingly better than Americans overall.' 

2. Ans. C. 

Statement I can be validated from the following 

statement of the passage, 'Although Jews make up 

only about 2 percent of the United States’ adult 

population, they account for a third of the current 

Supreme Court; over two-thirds of Tony Award-

winning lyricists and composers; and about a third 

of American Nobel laureates.' 

Statement II can be validated from the following 

statement of the passage, 'Comprehensive data 

published by the Russell Sage Foundation in 2013 

showed that the children of Chinese, Korean and 

Vietnamese immigrants experienced exceptional 

upward mobility regardless of their parents’ 

socioeconomic or educational background.' 

Statement III can be ruled out on the basis of the 

following statement of the passage, 'Indian-

Americans earn almost double the national figure.' 

Hence, only I and II are true. 

3. Ans. A. 

Refer the following statements of the penultimate 

para, 'Although India and China send the most 

immigrants to the United States through 

employment-based channels, almost half of all 

Indian immigrants and over half of Chinese 

immigrants do not enter the country under those 

criteria. Many are poor and poorly educated.'  

4. Ans. D. 

Mobility means movement. 

Hence, motion is the correct answer.  

5. Ans. B. 

Refer the following statements of the second para, 

'Jewish success is the most historically fraught and 

the most broad-based. Although Jews make up only 

about 2 percent of the United States’ adult 

population, they account for a third of the current 

Supreme Court; over two-thirds of Tony Award-

winning lyricists and composers; and about a third 

of American Nobel laureates.'  

The statements validate option B and negate option 

A.  

There is no mention of option C anywhere in the 

passage, hence it can't be validated.  

 

6. Ans. A. 

Blindness is the lack of perception, awareness, or 

judgement; ignorance. 

Erudition is related to knowledge or learning. 

Cognition is related to perception, mental activity.  

Hence, ignorance is the correct answer.  

7. Ans. C. 

Fraught means something charged with or 

distressed; of a situation or course of action) filled 

with (something undesirable).  

Hence, charged is the correct answer. 

8. Ans. B. 

This is a tricky question. 

According to the passage, all the given statements 

are true. However, the specific emphasis is on the 

facts discussed in the quoted statement.  

The statement follows para 1 and the fact 

mentioned in para 1 is about the earnings of the 

Indian-Americans. Moreover, the specific reference 

to facts has been given by the word 'these'. 

Hence, only option B logically follows.  

9. Ans. D. 

Humble means respectful or meek. 

Options A, B and C are similar in meaning.  

Option E is unrelated. 

Option D is opposite in meaning.  

10. Ans. B. 

Options A, C and E are similar in meaning.  

Option D is unrelated. 

Option B is opposite in meaning.  

11. Ans. A. 

Refer to the last question of the series. 

12. Ans. B. 

Refer to the last question of the series. 

13. Ans. C. 

Refer to the last question of the series. 

14. Ans. B. 

Refer to the last question of the series. 

15. Ans. D. 

The para must begin with a sentence that 

introduces the central idea of the other 

statements.  

C should be the first sentence as it introduces the 

event. 

B follows C as 'one of these gatherings' stated in B 

refers to the 'meditation classes' introduced in 

statement C. 

F follows B as 'this' refers to the act of stealing 

states in statement B and states the consequence 
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of the action. 

E follows as it talks about what happened after the 

drawn petition was read by Bankei. 

A follows as it continues what Bankei said (earlier 

quoted in statement F). 

D follows as it states what happened after Bankei 

told his pupils the content quoted in E and A. 

Hence, the correct sequence is CBFEAD. 

16. Ans. D. 

The error lies in the fourth part of the segment.  

The error is the usage of an incorrect part of 

speech. The word ‘skills’ is a noun which has been 

incorrectly described by another noun ‘analysis’. 

The noun ‘skills’ should be qualified with an 

adjective ‘analytical’. 

17. Ans. B. 

The error lies in the second part of the sentence. 

‘that’ should be used instead of which. ‘Which’ is 

used in a non-restrictive clause and ‘that’ is used in 

a restrictive clause in which the given information is 

essential. Moreover, that is necessary to avoid the 

error of parallelism.  

18. Ans. A. 

The error lies in the first part of the sentence.  

‘Myself’ is not the correct word. It should be 

replaced by 'I'. ‘Myself’ is a reflexive pronoun and is 

used when you are the object of your own action. 

‘I’ is a first-person singular pronoun that is used as 

the subject of a sentence. The given sentence 

needs a subject and not a reflexive pronoun. 

19. Ans. A. 

The error lies in the first part of the sentence.  

‘Stratified’ is an adjective which means arranged in 

a sequence of grades or ranks. According to the 

context, the sentence requires a noun. 

‘Stratification’ is being modified by the adjective 

‘reinforced' in the given context. 

20. Ans. B. 

The error lies in the second part of the sentence.  

‘There’ is a noun, an adverb, a pronoun, or an 

adjective, while here it is used as a pronoun which 

doesn’t show any possession. On the other hand, 

‘their’ shows possession and is followed by a noun, 

which is absent in the given segment. Hence, 

‘there’ is correct. 

21. Ans. D. 

Halling is the incorrectly spelled word.  

The meanings and correct spellings of the words 

are:  

Din=> a loud, unpleasant, and prolonged noise  

Quarrying=> extract (stone or other materials) 

from a quarry  

Foremen=> a male worker who supervises and 

directs other workers.  

Hauling=> pull or drag with effort or force  

Blocks=> a large solid piece of hard material, 

especially rock, stone, or wood, typically with flat 

surfaces on each side.  

Hence, option D is the correct answer. 

22. Ans. D. 

Caparring is the incorrectly spelt word. 

The meanings and correct spellings of the words 

are:  

Outraged=> arouse fierce anger, shock, or 

indignation in (someone)  

Apprehension=> anxiety or fear that something 

bad or unpleasant will happen  

Dismounted=> get off a horse, bicycle, or anything 

that one is riding  

Capering=> skipping or dancing about in a lively or 

playful way  

Outlaw=> fugitive  

Hence, option D is the correct answer. 

23. Ans. A. 

Fumming is the incorrectly spelt word. 

The meanings and correct spellings of the words 

are:  

Fuming=> be furious  

Sack=> a large bag made of a strong material such 

as hessian, thick paper, or plastic, used for storing 

and carrying goods  

Baffled=> puzzled  

Associate=> a partner or companion in business or 

at work  

Hence, option A is the correct answer.  

24. Ans. C. 

Homogeniousation is the incorrectly spelt word. 

The meanings and correct spellings of the words 

are:  

Complex=> complicated  

Exploitation=> the action or fact of treating 

someone unfairly in order to benefit from their 

work  

Homogenization=> the process of making things 

uniform or similar  

Adverse=> preventing success or development; 

harmful; unfavorable  

Economies=> the state of a country or region in 

terms of the production and consumption of goods 

and services and the supply of money  

Hence, option C is the correct answer. 
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25. Ans. C. 

Strikking is the incorrectly spelt word. 

The meanings and correct spellings of the words 

are:  

Alleged=> said, without proof, to have taken place 

or to have a specified illegal or undesirable quality  

Targeting=> aiming  

Striking=> prominent  

Visible=> evident  

Attention=> notice taken of someone or 

something; the regarding of someone or something 

as interesting or important.  

Hence, option C is the correct answer. 

26. Ans. B. 

manoeuvre means movement or operation in terms 

of activity. 

The phrase 'real room for _______' validates the 

option. 

Accusation means allegations or charge. 

Idleness means laziness.   

Inutility means uselessness.  

Inaction means inactivity or passivity.  

The structure indicates that after the blank has 

been filled the phrase must present a positive 

context.  

Hence, manoeuvre is the correct answer.  

27. Ans. C. 

The given segment 'it is not financially ______ to 

scale up' indicates that scaling up is, in the context, 

not possible.  

Amiable means friendly. 

Unnamed means something which is not named. 

Feasible means something achievable or workable.  

Inconceivable means unbelievable.  

Unfeasible means inconvenient.  

Hence, feasible is the correct answer.  

28. Ans. A. 

Hinge, in the context, means to depend. 

The answer can be judged by the segment following 

the blank, 'will hinge on _____ from States in the 

form of free...'  

It means that the subject will depend on what is 

received from States in the form of benefits or 

deductions as is clear by the examples quoted. 

Options B, C, D and E, hence, don't fit in 

contextually. 

Hence, concessions which means preferential 

allowances or adjustments, deductions is the 

correct answer.  

 

 

29. Ans. C. 

This is a purely contextual question and can be 

answered only if the entire context (especially the 

following lines) is read beforehand and understood 

well.  

The advantages of the approach mentioned in the 

given segment are stated in the next statement and 

the comparison has been drawn with a single till 

approach. This needs to be paid careful attention to 

as the answer will be contrary to this approach. 

The only word that can serve as a comparison to 

single is hybrid which refers to a combination.  

The other words can be eliminated. 

Hence, hybrid is the correct answer.  

30. Ans. D. 

'The _____' refers to the context of the two 

preceding statements. They talk about the effect of 

the change in approach in terms of scaling up and 

bringing down things and the intended pathway.  

Silhouette means the outline of something, say a 

shape.  

Trajectory means a course or a route.  

Option E doesn't fit in grammatically. 

Hence, trajectory is the correct answer.  

31. Ans. C. 

The pattern of the series can be judged by the 

logical sequence given below: 

19 + 132 = 188  

188 + 112 = 309  

309 + 92 = 390  

390 + 72 = 439  

439 + 52 = 464 

32. Ans. D. 

The pattern of the series can be judged by the 

logical sequence given below: 

  

  

  

  

 
33. Ans. B. 

The pattern of the series can be judged by the 

logical sequence given below: 

3 * 1 + 1 

4 * 2 + 1 

9 * 3 + 1 

28 * 4 + 1 

113 * 5 + 1 = 566 
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34. Ans. D. 

The pattern of the series can be judged by the 

logical sequence given below: 

198-32=166  

166-16=150  

150-8=142  

142-4=138  

138-2=136  

136-1=135 

35. Ans. B. 

The pattern of the series can be judged by the 

logical sequence given below: 

 

3            11           32            73              141       

     243            386 

       8             21           41             68              10

2             143 

              13            20            27             34         

      41 

                       7             7              7                 7 

36. Ans. C. 

A completes 40% of work in 4 days.  

So, A alone will take 10 days in completing 100% 

of the work alone. 

A is twice efficient than B. 

So, B will Take 2 times the days taken by A to 

complete the work alone. 

Hence, B alone can do the work in 20 days. 

B is twice efficient than C. 

So, C will Take 2 times the days taken by B to 

complete the work alone. 

Hence, C alone can do the work in 40 days. 

A completed 40% of the work. Hence, the rest of 

the work (60%) will be done by A, B & C together. 

Let A, B and C worked for x days to complete 

remaining 60% of the work. 

Hence, 

 
Hence, remaining work will be done in 24/7 days. 

 

37. Ans. C. 

Let the present age of Rahul and his wife 

be 12x and 9x respectively. 

After 6 years, this ratio will become 18:14 =>9:7  

(12x+6): (9x+6) = 9:7  

84x+42 = 81x+54 

x=4  

Present age of Rahul = 12x = 48  

Present age of his wife = 9x = 36  

Assume that they got married t years ago.  

Hence,  

(48-t):(36-t)=10:6=5:3 

144-3t = 180-5t 

2t = 36 

t = 18 

Hence, they got married 18 years ago. 

38. Ans. C. 

There are 200 students who appeared in an 

examination of Mathematics, English, and Physics. 

10% of the students passed in only one subject.  

20% of the students passed in all subjects.  

So, the percentage of students who passed in two 

subjects = 100 – 20 – 10 = 70% 

The number of students who passed in two subjects 

= 200 × (70/100) = 140  

40% of the students passed in English and one 

more subject. 

So, the number of students who passed in English 

and one more subject = 200 × (40/100) = 80 

∴ The number of students who passed in 

Mathematics and Physics = 140 – 80 = 60 

39. Ans. C. 

A invested for 12 months, B invested for 8 months 

and C invested for 4 months. 

Let C’s investment = Rs x  

A’s investment = 600*12 = 7200 Rs 

B’s investment = 400*8 = 3200 Rs 

C’s investment = x*4 = 4x Rs  

B’s profit = C’s profit 

It means C’s total investment will be equal to B's 

investment which is 3200 Rs. 

So,  

  

B’s profit = 1200 which is divided in the proportion 

of the investment by partners. 

Hence, total profit = 1200*[(9+4+4)/4] 

= 1200*(17/4) = 5100 
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40. Ans. D. 

The ratio between the cost price and the selling 

price of an article is 6:5. So, let us assume them to 

be 6x & 5x respectively. 

The difference between the cost price and the 

selling price is Rs. 150.  

Hence,  

6x - 5x = 150  

x = 150 

It means  

C.P = 6*150 = 900 Rs  

S.P = 5*150 = 750 Rs 

Discount = 25% (which is always given on the 

marked price) 

Let Marked price to be y. 

Hence, 75% of MP = SP 

(75/100)*y = 750 

y = 1000 

Hence, the marked price of that article is 1000 Rs. 

41. Ans. D. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 

 
 

Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

? = 1234 + 2345 – 3456 + 4567  

? = 3579 - 3456 + 4567 

? = 123 + 4567  

? = 4690 

42. Ans. E. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 

 
 

Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

(115/5) + 12 × 6 = ? + (64/4) – 35  

23 + 72 = ? + 16 – 35 

95 = ? - 19  

95+19 = ?  

? = 114 

 

43. Ans. A. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 

 
 

Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

×400+√?= ×750 - ×350  

180 + √? = 420 - 140  

180 + √? = 280  

√? = 280 - 180  

√? = 100  

? = 1002  

? = 10000 

44. Ans. D. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 

 
 

Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

600 + (300/15) = ? × 31  

600 + 20 = ? × 31  

? = 620/31 = 20 

45. Ans. B. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 
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Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

65% × 700 + 14 - 9 × 3  

65 × (700/100) + 14 - 27  

455 + 14 - 27 = 442 

46. Ans. C. 

Selling price of A = 600*[(100-10)/100] = 540 Rs 

Selling price of B = 500*[(100-20)/100] = 400 Rs  

Total selling price = 540 + 400 = 940 Rs 

Total cost price = 940 - 220 = 720 Rs 

Cost price of each article = 720/2 = 360 Rs 

47. Ans. C. 

CI for 2 years = Rs 756  

SI for 2 years = Rs 720  

Difference in Interest = 756 - 720 = 36 Rs. 

Let the principal amount to be P, the rate of 

interest to be R%. 

Hence, 

36 = (P*R2)/1002 

PR2 = 360000 

Simple interest in 2 years = 720 Rs 

720 = (P*R*2)/100 

PR = 36000 

It means R = 10% 

In the second case, let us assume the rate of 

interest to be r%. 

Hence, 

1296 = (P*r*r)/100 

1296 = (Pr2)/100 

Pr2 = 129600 

r = 6% 

Key Note:- The alternate way of finding Rate of 

Interest, if simple Interest and Compound Interest 

is given for two years 

As we know the simple interest is same for all the 

years. Hence the interest for two years will be 

720/2 = 360.  

Now the simple interest and the compound interest 

remains the same for the first year hence 

compound interest will be 360 for the first year and 

for the second year it will be 796 – 360 = 396.  

This sum of 396 is comprised of [Fixed Interest + 

Interest on interest] i.e. [360 + 36]. This 36 is 

charged on Rs 360, therefore the rate of interest 

will be 36/360 = .1 or 10% 

48. Ans. A. 

Let the quantity of water in both the vessels = 'x' L 

According to the question: 

(40+x)/(50+x) = 6/7 

280+7x = 300+6x 

x=20 

So, total quantity of milk = 40 + 50 = 90 L 

Total quantity of water = 20 + 20 = 40 L  

Hence, ratio of milk & water = 90:40 = 9:4 

49. Ans. B. 

Let the length of train B = x 

According to the question: 

Train B covers the platform in 28 seconds. Hence, it 

will have to cover the length of the platform as well 

as the length of its own in 28 seconds. 

Hence, 

(x+200)/25 = 28  

x + 200 = 28*25  

x = 700-200  

x = 500 

Length of train A is 100 m more than that of train 

B.  

So, length of train A = 500 + 100 = 600 m 

Let the speed of train A =SA  

Train A cross the platform in 16 seconds. 

(600+200)/ SA = 16  

SA = 800/16 = 50 m/s 

50. Ans. A. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 

 
Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

√[82×7×52-175] = ? 

√[64×7×25-175] = ? 

√[11200-175] = ? 

√[11025] = ? 

⇒ ? = 105 

51. Ans. A. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 
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Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

  

  

 
52. Ans. C. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 

 
 

Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

632 ÷25 +(?)2 = 61.28  

25.28 +(?)2 = 61.28  

(?)2 = 61.28 – 25.28  

(?)2 = 36  

? =6 

53. Ans. E. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 

 
 

Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

28 ÷ 7 + 80 ÷ 4 = √?  

4 + 20 = √?  

√? = 24  

? = 242  

? = 576 

54. Ans. A. 

As per the BODMAS rule, the priority in which the 

operations should be done is: 

 
 

Note: Addition and subtraction can be treated on 

same priority (from left to right) when they are in 

consecutive order. 

 
55. Ans. B. 

The number of students who took admission in 

Kharagpur in 2014 & 2016 = 390+480 = 870 

The number of students who appeared in the exam 

= 80% of 870 

The number of students who passed the exam 

= 75% of 80% of 870 = (3/4)*(4/5)*870 = 

522 

56. Ans. E. 

The total number of students enrolled in 2015 = 

430+450+470+380+420 = 2150  

Hence, the % of students who didn't enroll for the 

special course = 100-66 = 34% 

Hence, the number of students who didn't enroll for 

the special course = 34% of 2150 = 731 

57. Ans. D. 

The total number of students enrolled in Hyderabad 

college is = (510+480+420+430+520) = 2360  

The average = 2360/5 = 472 

58. Ans. E. 

The average number of students enrolled from 

Delhi college for all the years  
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=  = 406  

The average number of students enrolled from 

Kanpur college for all the years  

=  = 454  

The required percent = [(406/454)*100]% = 90% 

(Approx) 

59. Ans. E. 

The required ratio 

=  =  =  

= 1:1 

60. Ans. A. 

The number of students enrolled in Kharagpur = 

450+390+450+480+430 = 2200  

The number of students enrolled in Hisar = 

480+460+380+490+490 = 2300  

The required answer is 2200 + 2300 = 4500 

61. Ans. E. 

Perimeter of square = 128 m 

Hence,  

4 * side =128 

Side = 128/4 = 32 m  

Perimeter of rectangle = 32*(1.25) = 40 m  

Breadth of rectangle = 32/4 = 8 m 

Perimeter of the rectangle = 2(l+b) = 40  

l + 8 = 20 

l = 12 m 

Hence, 85% of the length of the rectangle = 85% 

of 12 = 10.2 m 

62. Ans. C. 

Let the speed of river = x  

So, speed of the boat = 2x 

According to the question,  

105/[2x-x] - 105/[2x+x] =10  

[105/x] – [105/3x] = 10  

[(315-105)/3x] = 10 

210 = 30x 

x =7 

So speed of the river = 7 km/h  

Speed of the boat = 7*2 = 14 km/h 

63. Ans. D. 

A can do 1/4th of a piece of work in 6 days so A can 

do the total work in 6*4 = 24 days  

B can do the same work in 125% time of 24 days = 

24*(125/100) = 30 days  

B and C together do the work = 20 days 

The amount of work done by C in 1 day = (1/20) – 

(1/30) = (3-2)/60 = 1/60 days 

Hence, C alone will take 60 days in completing the 

work while working at his full efficiency. 

If C works at 50% of his actual efficiency, then he 

will take 60/50% = 120 days in completing the 

work. 

64. Ans. D. 

Let rate = R% and time = n years 

Then,  

10368 = 7200(1+R/100)n  

⇒ (1+R/100)n = 10368/7200 = 1.44  

∴ (1 + R/100)n/2 = √1.44 = 1.2  

∴ Required amount for n/2 yr  

= 7200 x (1+ R/100)n/2  

= 7200 x 1.2 = Rs 8640 

65. Ans. B. 

Let price of the first and second variety be Rs 

X and Rs Y respectively. 

Hence, total cost price = (X+Y)  

If he sells first one at a profit of 20% and other at a 

loss of 50% then there is no profit/no loss in the 

whole selling.  

Hence, 

120% of X + 50% of Y = X+Y  

1.2X+ 0.5Y= X + Y 

0.2X = 0.5Y  

X = 2.5Y  

If he sells first one at a loss of 10% and other at a 

gain of 20%, his loss is Rs 2.  

Hence,  

(X+Y) – (90% of X + 120% of Y) = 2  

(X+Y) – (0.9X + 1.2Y) = 2 

0.1X - 0.2Y = 2 

X - 2Y = 20 

2.5Y - 2Y = 20  

0.5Y = 20 

Y = 40  

Hence, X = 2.5*40 = 100 

Initial CP of first variety of coffee = Rs 100 

66. Ans. D. 

I. U≥ X 

II. Z=Y<U≥X (not follow) 

Hence, neither conclusion I or II is true. 

67. Ans. E. 

E < F ≤ G = H > S 

I.  G = H > S (follow) 

II. F ≤ G = H (follow) 

68. Ans. B. 

F ≥ G = H; G > J ≥ K 

I. F ≥ G >J ≥ K (not follow) 

II. H=G>J≥ K (follow), K < H follows 

Hence, option B is the right answer. 

69. Ans. E. 
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P < Q = R ≥ S ≥ T 

I. Q = R ≥ S ≥ T (True) 

II. P < Q = R - (True) 

70. Ans. A. 

By combining the statements  

D A  B < C  F  

D A  B < C (True)  

D A  B < C  F (not true) 

Hence, option A is the right answer.  

71. Ans. E. 

Given information:  

Sushil sits fourth to left of Gurmeet. Gurmeet sits 

at one of the extreme ends of the line. Both the 

immediate neighbors of Sushil face north. Sushil 

faces south. People sitting at the extreme ends face 

the opposite directions.  

  

Tarun sits second to the left of Zoya. Zoya is not an 

immediate neighbour of Sushil. Neither Zoya nor 

Upendra sits at the extreme end of the line. 

Immediate neighbors of Tarun face opposite 

directions.   

Given information:  

Bipasha sits to the immediate left of Yami. 

Immediate neighbours of Virendra face opposite 

directions (i.e. if one of them faces North and the 

other faces south). Both the immediate neighbours 

of Upendra face north-  

  

Now, in the red colored diagram, we can’t place 

Bipasha and Yami together, so it is wrong. Hence, 

the correct diagram is as-  

  

So, number of persons between Upendra and Sushil 

is one. 

72. Ans. E. 

Given information:  

Sushil sits fourth to left of Gurmeet. Gurmeet sits 

at one of the extreme ends of the line. Both the 

immediate neighbors of Sushil face north. Sushil 

faces south. People sitting at the extreme ends face 

the opposite directions.  

  

Tarun sits second to the left of Zoya. Zoya is not an 

immediate neighbour of Sushil. Neither Zoya nor 

Upendra sits at the extreme end of the line. 

Immediate neighbors of Tarun face opposite 

directions.  

  

Given information:  

Bipasha sits to the immediate left of Yami. 

Immediate neighbours of Virendra face opposite 

directions (i.e. if one of them faces North and the 

other faces south). Both the immediate neighbours 

of Upendra face north-  

  

Now, in the red colored diagram, we can’t place 

Bipasha and Yami together, so it is wrong. Hence, 

the correct diagram is as-  

  

So, second to the left of Virendra is may be 

Bipasha/Yami. So, can't be determined. 

73. Ans. D. 

Given information:  

Sushil sits fourth to left of Gurmeet. Gurmeet sits 

at one of the extreme ends of the line. Both the 

immediate neighbors of Sushil face north. Sushil 

faces south. People sitting at the extreme ends face 
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the opposite directions.  

  

Tarun sits second to the left of Zoya. Zoya is not an 

immediate neighbour of Sushil. Neither Zoya nor 

Upendra sits at the extreme end of the line. 

Immediate neighbors of Tarun face opposite 

directions.  

  

Given information:  

Bipasha sits to the immediate left of Yami. 

Immediate neighbours of Virendra face opposite 

directions (i.e. if one of them faces North and the 

other faces south). Both the immediate neighbours 

of Upendra face north-  

  

Now, in the red colored diagram, we can’t place 

Bipasha and Yami together, so it is wrong. Hence, 

the correct diagram is as-  

  

So, number of persons between Yami and Zoya is 

either five/four. 

74. Ans. A. 

Given information:  

Sushil sits fourth to left of Gurmeet. Gurmeet sits 

at one of the extreme ends of the line. Both the 

immediate neighbors of Sushil face north. Sushil 

faces south. People sitting at the extreme ends face 

the opposite directions.  

  

Tarun sits second to the left of Zoya. Zoya is not an 

immediate neighbour of Sushil. Neither Zoya nor 

Upendra sits at the extreme end of the line. 

Immediate neighbors of Tarun face opposite 

directions.  

  

Given information:  

Bipasha sits to the immediate left of Yami. 

Immediate neighbours of Virendra face opposite 

directions (i.e. if one of them faces North and the 

other faces south). Both the immediate neighbours 

of Upendra face north-  

  

Now, in the red colored diagram, we can’t place 

Bipasha and Yami together, so it is wrong. Hence, 

the correct diagram is as-  

  

So, number of persons between Upendra and Sushil 

is one. 

75. Ans. D. 

Given information:  

Sushil sits fourth to left of Gurmeet. Gurmeet sits 

at one of the extreme ends of the line. Both the 

immediate neighbors of Sushil face north. Sushil 

faces south. People sitting at the extreme ends face 

the opposite directions.  
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Tarun sits second to the left of Zoya. Zoya is not an 

immediate neighbour of Sushil. Neither Zoya nor 

Upendra sits at the extreme end of the line. 

Immediate neighbors of Tarun face opposite 

directions.  

  

Given information:  

Bipasha sits to the immediate left of Yami. 

Immediate neighbours of Virendra face opposite 

directions (i.e. if one of them faces North and the 

other faces south). Both the immediate neighbours 

of Upendra face north-  

  

Now, in the red colored diagram, we can’t place 

Bipasha and Yami together, so it is wrong. Hence, 

the correct diagram is as-  

  

So, number of persons between Upendra and Sushil 

is one. 

76. Ans. A. 

Seventeenth from the right end = R  

Ninth to the right of R = N  

Second method = 17 – 9 = 8th number from right = 

N 

77. Ans. E. 

Sixth to the left of W = @  

Fourth to the left of @ = 9 

78. Ans. C. 

A $ 4, F 8 

 

 

79. Ans. C. 

There are two pairs - # V ©, © J * -  which is 

immediately followed by a symbol but not 

immediately preceded by number 

80. Ans. E. 

Every option has a similar gap between the 

elements but not in VN* 

81. Ans. C. 

456 897 323 786 255  

546 987 233 876 525  

7-5 = 2 

82. Ans. D. 

456 897 323 786 255  

436 877 303 766 235  

877 766 436 303 235 

Hence, option D is the right answer.  

83. Ans. A. 

456 897 323 786 255  

546 987 233 876 525  

987 876 546 525 233 

Hence, option A is the right answer.  

84. Ans. B. 

456 897 323 786 255  

458 899 325 788 257  

854 998 523 887 752  

523 752 854 887 998 

85. Ans. E. 

456 897 323 786 255  

897 786 456 323 255  

5/2 = 2.5 

86. Ans. C. 

O is uncle of N.  

Hence, option C.  

P likes Silver and sits 2nd to the left of S. P’s 

daughter is 3rd to the left of P. O is brother of P and 

two persons are sitting between P and O then O is 

immediate right of S. P’s son likes Red and sits 

opposite to S. P’s wife is immediate right of P.  

  

Q likes Black and sits 2nd to the right of O. It means 

Q is P’s daughter. Two persons are sitting between 

Q and Q’s daughter then S is daughter of Q. R is 

father of S. So R is husband of Q. R likes Pink and 

sits 2nd to the right of Q.  
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N’s wife likes Blue and sits 2nd to the left of N. Now 

we can see that only one position is left for N’s wife 

which is immediate left of Q then N is P’s son.  

  

T likes Brown so P’s wife is T. Now, M is N’s wife. S 

doesn’t like White then S likes Yellow and O likes 

White.  

Here is the final arrangement:  

  

Family Tree:  

 
87. Ans. A. 

O likes White.  

Hence, option A.  

P likes Silver and sits 2nd to the left of S. P’s 

daughter is 3rd to the left of P. O is brother of P and 

two persons are sitting between P and O then O is 

immediate right of S. P’s son likes Red and sits 

opposite to S. P’s wife is immediate right of P.  

  

Q likes Black and sits 2nd to the right of O. It means 

Q is P’s daughter. Two persons are sitting between 

Q and Q’s daughter then S is daughter of Q. R is 

father of S. So R is husband of Q. R likes Pink and 

sits 2nd to the right of Q.  

  

N’s wife likes Blue and sits 2nd to the left of N. Now 

we can see that only one position is left for N’s wife 

which is immediate left of Q then N is P’s son.  

  

T likes Brown so P’s wife is T. Now, M is N’s wife. S 

doesn’t like White then S likes Yellow and O likes 

White.  

Here is the final arrangement:  
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Family Tree:  

 
88. Ans. B. 

N’s wife is M and S who is R’s daughter is 2nd to the 

left of M.  

Hence, option B.  

P likes Silver and sits 2nd to the left of S. P’s 

daughter is 3rd to the left of P. O is brother of P and 

two persons are sitting between P and O then O is 

immediate right of S. P’s son likes Red and sits 

opposite to S. P’s wife is immediate right of P.  

  

Q likes Black and sits 2nd to the right of O. It means 

Q is P’s daughter. Two persons are sitting between 

Q and Q’s daughter then S is daughter of Q. R is 

father of S. So R is husband of Q. R likes Pink and 

sits 2nd to the right of Q.  

  

 

N’s wife likes Blue and sits 2nd to the left of N. Now 

we can see that only one position is left for N’s wife 

which is immediate left of Q then N is P’s son.  

  

T likes Brown so P’s wife is T. Now, M is N’s wife. S 

doesn’t like White then S likes Yellow and O likes 

White.  

Here is the final arrangement:  

  

Family Tree:  

 
89. Ans. C. 

N is 3rd to the right of O.  

Hence, option C.  

P likes Silver and sits 2nd to the left of S. P’s 

daughter is 3rd to the left of P. O is brother of P and 

two persons are sitting between P and O then O is 

immediate right of S. P’s son likes Red and sits 

opposite to S. P’s wife is immediate right of P.  

  

Q likes Black and sits 2nd to the right of O. It means 

Q is P’s daughter. Two persons are sitting between 

Q and Q’s daughter then S is daughter of Q. R is 
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father of S. So R is husband of Q. R likes Pink and 

sits 2nd to the right of Q.  

  

N’s wife likes Blue and sits 2nd to the left of N. Now 

we can see that only one position is left for N’s wife 

which is immediate left of Q then N is P’s son.  

  

T likes Brown so P’s wife is T. Now, M is N’s wife. S 

doesn’t like White then S likes Yellow and O likes 

White.  

Here is the final arrangement:  

  

Family Tree:  

 
90. Ans. A. 

All the persons are males except T.  

Hence, option A.  

P likes Silver and sits 2nd to the left of S. P’s 

daughter is 3rd to the left of P. O is brother of P and 

two persons are sitting between P and O then O is 

immediate right of S. P’s son likes Red and sits 

opposite to S. P’s wife is immediate right of P.  

  

Q likes Black and sits 2nd to the right of O. It means 

Q is P’s daughter. Two persons are sitting between 

Q and Q’s daughter then S is daughter of Q. R is 

father of S. So R is husband of Q. R likes Pink and 

sits 2nd to the right of Q.  

  

N’s wife likes Blue and sits 2nd to the left of N. Now 

we can see that only one position is left for N’s wife 

which is immediate left of Q then N is P’s son.  

  

T likes Brown so P’s wife is T. Now, M is N’s wife. S 

doesn’t like White then S likes Yellow and O likes 

White.  
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Here is the final arrangement:  

  

Family Tree:  

 
91. Ans. C. 

Point D is 2m to the west of point D.  

Hence, option C.  

 
92. Ans. C. 

Point A is north-west of point C.  

Hence, option C.  

 
93. Ans. B. 

E=164cm  

F=341-164=177cm  

Hence, option B.  

A is taller to C but shorter to the one whose height 

is 164cm.  

164>A>C  

F is taller to B whose height is 167cm.  

F>B(167)>164>A>C  

D’s height is 172cm so either D is taller to shorter 

to F.  

The difference of height between B and F is at least 

8cm. It means F’s height at least 175cm then F 

must be tallest and E’s height must be 164cm.  

F>D(172) >B(167)>E(164)>A>C 

94. Ans. C. 

D is the 2nd tallest.  

Hence, option C.  

A is taller to C but shorter to the one whose height 

is 164cm.  

164>A>C  

F is taller to B whose height is 167cm.  

F>B(167)>164>A>C  

D’s height is 172cm so either D is taller to shorter 

to F.  

The difference of height between B and F is at least 

8cm. It means F’s height at least 175cm then F 

must be tallest and E’s height must be 164cm.  

F>D(172) >B(167)>E(164)>A>C 

95. Ans. D. 

A’s height will be in the range of 161-163.  

So it will be 162cm.  

Hence, option D.  

A is taller to C but shorter to the one whose height 

is 164cm.  

164>A>C  

F is taller to B whose height is 167cm.  

F>B(167)>164>A>C  

D’s height is 172cm so either D is taller to shorter 

to F.  

The difference of height between B and F is at least 

8cm. It means F’s height at least 175cm then F 

must be tallest and E’s height must be 164cm.  

F>D(172) >B(167)>E(164)>A>C 

96. Ans. D. 

he was not absent - ja si fe ra - (1)  

absent case was not - ga fe ja ra - (2)  

no one was absent - da ge ra fe - (3)  

From 1, 2 and 3, code for was and absent = fe, ra  

From 1 and 2, code for not = ja, So, code for si = 

he 

97. Ans. E. 

 
The answer is KROMP. 

'FAITH' is coded as 'HCKVJ' 

'NIGHT' is coded as 'PKIJV 
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Now, the question is asking about _____ is coded 

as 'MTQOR'. 

So, apply reverse technique, KROMP is coded as 

MTQOR. (By going reverse like M - 2 = K, T - 2 = 

R, Q - 2 = O, O - 2 = M, R - 2 = P)  

It means KROMP is coded as MTQOR. 

Hence, Option E is correct. 

98. Ans. C. 

  

There are two such pairs AE, KL. 

Hence, option C is the right answer.  

99. Ans. A. 

D is father of A.  

Hence, option A.  

C is sister of A. C is mother of F. F is brother of G. E 

is mother of A. A is a unmarried male. D is father-

in-law of B as two couples are there in the family so 

D is husband of E and B is husband of C. B has one 

daughter then G is a female.  

 

100. Ans. B. 

G is niece of A.  

Hence, option B.  

C is sister of A. C is mother of F. F is brother of G. E 

is mother of A. A is a unmarried male. D is father-

in-law of B as two couples are there in the family so 

D is husband of E and B is husband of C. B has one 

daughter then G is a female.  
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